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HSE2.4S 2/50 0.48 |#18100| 8 0.12 10 186 | 222 | 304 5 EE
KTVE2.75 | ) = 0.75 10 0.18 | 12.7 | 200 | 200 | 417 5
KTVE22.2 T | 2/50 3/80 | 2.2 |=#8200| 20 0.2 245 | 240 | 240 | 462 8
KTVE33.7 3/80 4/100| 3.7 18 0.5 39.5 | 285 | 285 | 585 8
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HSD2.55S KTV2-50
HSD2.55S 2/50 0.55 | B#100 9 0.1 15 234 162 391 5 z
KTV2-50 2/50 2 12 0.25 24 250 250 454 8 g
KTV2-80 WILS 3/80 3 12 0.5 37 295 295 550 8 g
KRS2-100 h 4/100 6 =#8200 10 1.5 145 415 373 754 8 é
KRS2-100H 4/100 11 25 1 192 547 414 841 8 é
KRS2-150 6/150 9 15 1.8 170 434 407 811 8 El
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VH-3 3/80 2.2 7 0.5 120 700 394.5 420 10 E
VH-5 4/100 3.7 12 0.5 130 720 394.5 465 10 é
VH-7.5 v 4/100 5.5 10 1.2 165 817 456.5 465 10 é
VH-10 I:%i%ﬁ 3/80 7.5 =#200 12 1.2 180 871 456.5 465 10 é
VHG-15 4/100 11 15 1.2 320 1055 538 544 10 é
VHG-20 4/100 15 20 1.2 340 1124 538 544 10 é
VHG-30 4/100 22 26 1.2 440 1234 596 634 10 K]

212



